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Difficulty: Mastery @

A loan is being repaid with 2 payments: A first payment of $1, 500 at the end 2 years
and a second payment of $1, 600 at the end of 7 years.

Monitor difficulty level

Determine the loan amount given an annual effective rate of discount of 2%.

2,834.65 Got it wrong?
You used the formula: _| l_ Often there is a
_1,500(0.98) 2 4-1,600(0.98) " that H
a gives AV's instead of PV's using a 2% 5im ple réason Why
discount rate. J
2,829.60 Helpful strategies
to get you started
ﬂ 2,759.65 L
_ N\
Graphs and other solution
Help Me Start .
] techniques demonstrated
Sketch a time diagram showing the two payments. when app|icab|e

Solution

Commonly
1500 1600 encountered errors

0 1 2 sax are 7

The loan is the PV of the two payments using the annual effective discount rate of
2%:

L = 1,500(1 — .02)* + 1,600(1 — .02)" = 1,500(0.98)° + 1,600(0.98)"

— 2,820.60.

Common Questions & Errors -l

]

Common Error 1: Finding the amount 20000'5~4+! which is the principal repaid

in the 4th payment. Subtract the answer from the annual payment amount to get
the interest paid.
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your progress by topic
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Andrew borrows a certain amount of money at an annual effective interest rate of 7%.
He will repay this loan by making payments of 2000 at the end of each year for 15 Monitor difficulty level

years, using the amortization method.

Calculate the amount of interest paid in the 4th payment. Got it wron g7

Often thereis a
888 simple reason why

The correct formula is
ﬂ Iy = 2000 (1 — o' 441). You didn't add .
the 1 to the exponent. Hel prI Stl’ateg 1es

to get you started

ol 1112
n“34 Multiple solutions
provided when applicable

N 1165

Calculator solutions
Help Me Start prOVided when available
The amount of interest paid in the £** payment: I, = R ( 1— v"*tﬂ).
Another way is to find the principal repaid and subtract it from the payment Common Iy
amount: I; = R — P,. encountered errors
You can also find the outstanding balance at time (¢ — 1) and multiply by i:
It - Z.Bt_l.
Solution

The principal repaid: P; = 20000*~*+1 = 2000v'? = 2000(1.07) 2 = 888.02
So, I = R — Py = 2000 — 888.02 = 1111.98

Calculator Solution

Common Questions & Errors




